Rocket Trajectory Nomograms
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Model rockets, A-C

Model rockets D-E

Mid Power, F-G

Small High Power, H-I

2inch High Power, I-J

3inch High Power, I-J

4inch High Power, J-K

6inch High Power, K-L

7.5inch High Power

Large rockets
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Kosdon-by-Aerotech
l o = 143.7Ns
Fag = 137.0N
tpun = 1055
= 29 mm
Data source:
Aerotech
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time to apogee: 12.6s, expected altitude: 985m
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empty weight [kg]

. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.
. Move along horizontal to left border of density scale

. Move up slanted line to vertical line matching density at launch site

. From intersection point move horizontally to vertical line matching rocket mass

. Read off expected time to apogee from red curves, altitude from green curves
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Kosdon-by-Aerotech 1. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.
1000 = 2. Move along horizontal to left border of density scale
G 82W g 3. Move up slanted line to vertical line matching density at launch site
a 4. From intersection point move horizontally to vertical line matching rocket mass
l o = 143.9Ns 5 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 734N g
Upum = 1.965 N\ s0 2 time to apogee: 13.0s, expected altitude: 991m
= 29 mm §
Data source: empty We|ght [kg]
Aerotech
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Kosdon-by-Aerotech 1. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.

1600 2. Move along horizontal to left border of density scale
H 2 2 5 R 3. Move up slanted line to vertical line matching density at launch site

4. From intersection point move horizontally to vertical line matching rocket mass

b
l ot = 2427Ns i 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 2165N g
t = 112 = ; . ; .
burn - 2 m; N\ 500 ;) time to apogee: 13.7s, expected altitude: 1037m
Data source: empty We|ght [kg]
Aerotech
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Kosdon-by-Aerotech 1. From rocket diameter scale move down alohg slanted line to vertical line matching drag coefficient.
H 130W 008 g mgzg 3:?2?31:?(;:1?:;1:3/5202?1312 ;fa?c?r?i:\l;ydsecr?slﬁy at launch site
i 4. From intersection point move horizontally to vertical line matching rocket mass
l o = 247.8Ns ; 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 1298N £
Lbum z ;égrlnzq N\ s00 2 time to apogee: 12.8s, expected altitude: 795m
Do s B empty weight [kg]
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1. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.
2. Move along horizontal to left border of density scale

3. Move up slanted line to vertical line matching density at launch site

4. From intersection point move horizontally to vertical line matching rocket mass

Kosdon-by-Aerotech

1170S

b
l ot = 3740Ns i 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 1756N g
Upum = 2135 N\ s0 2 time to apogee: 16.6s, expected altitude: 1562m
= 38mm §
Data source: empty We|ght [kg]
Aerotech
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Kosdon-by-Aerotech 1. From rocket dlameter scale move down alohg slanted line to vertical line matching drag coefficient.
1000 = 2. Move along horizontal to left border of density scale
I 30 1W 2 3. Move up slanted line to vertical line matching density at launch site
a 4. From intersection point move horizontally to vertical line matching rocket mass
Il = 590.0Ns 5 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 302.2N g
Uoum = 1.95s N\ s0 2 time to apogee: 19.3s, expected altitude: 2383m
= 38mm §
Data source: empty We|ght [kg]
Aerotech
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1. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.
2. Move along horizontal to left border of density scale

3. Move up slanted line to vertical line matching density at launch site

4. From intersection point move horizontally to vertical line matching rocket mass

Kosdon-by-Aerotech

I550R

b
l o = 591.3Ns g 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 543.0N £
Upum = 1095 N\ s0 2 time to apogee: 18.8s, expected altitude: 2363m
d = 38mm i
Data source: empty We|ght [kg]
Aerotech
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Kosdon—by—Aerotech ; Eﬂrom rocket diameter scale move down alohg slanted line to vertical line matching drag coefficient.
1000 = . Move along horizontal to left border of density scale
|301W 2 3. Move up slanted line to vertical line matching density at launch site
i 4. From intersection point move horizontally to vertical line matching rocket mass
l ot = 590.0Ns g 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 302.2N g
toun = 1.95s N\ 50 2 time to apogee: 16.6s, expected altitude: 1356m
= 38mm E
Ealaso:rce: empty WEIght [kg]
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1. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.
2. Move along horizontal to left border of density scale

3. Move up slanted line to vertical line matching density at launch site

4. From intersection point move horizontally to vertical line matching rocket mass

Kosdon-by-Aerotech

I550R
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l o = 591.3Ns i 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 543.0N g
€ bum z ;;302;1 N\ s0 2 time to apogee: 16.5s, expected altitude: 1395m
Ealatso:rce: - empty We'ght [kg]
© 2007-2008 Andreas Miiller, translation by translator 2 3 4 5
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vl 1. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.
Kosdon by Aerotech 1000 = 2. Move along horizontal to left border of density scale
J 74OG 2 3. Move up slanted line to vertical line matching density at launch site
i 4. From intersection point move horizontally to vertical line matching rocket mass
Il = 665.1Ns 5 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 7881N g
t = 084 = ; . i .
bn = m; N\ 00 ;) time to apogee: 17.7s, expected altitude: 1672m
Data source: empty We|ght [kg]
Aerotech
0 © 2007-2008 Andreas Miiller, translation by translator 2 3 4
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Kosdon-by-Aerotech ; E/Irc())\rlr:a gjlglr(‘(;tr(]jci)arss:lzlstgallsﬂrgz\:ge(iog:r;:rlgﬁg zl:a;;(teed line to vertical line matching drag coefficient.
I 1708 2 3. Move up slanted line to vertical line matching density at launch site
a 4. From intersection point move horizontally to vertical line matching rocket mass
l o = 374.0Ns ; 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 1756N g
Lbum z gsli;q 500 g time to apogee: 10.1s, expected altitude: 430m
Do s B empty weight [kg]
© 2007-2008 Andreas Miller, translation by translator 3 4 5 6
100 \ ) \ \i T Y 1 i
N \ \ VLT | l
N 1\ L l.
90 \ \\ \\ \ \\ “\ Il \I 1 1 \I
N \ | | | |
s Ak WHR N SR YL | MR \ \. \
’ ANV A LT ) \\
\ IR \ |
L L W A R
" : \ \\ \ \\ \ | \\ \ \\\ \\ \\ \\ ‘\\\
?% WA \ [ A | | l
\\‘ \ AV 1 \\ [ \\ | \ \\l\ \\ l\ l\
i AAVIAL ARV LY LT |
\ L VA W L | |
= DA |
* AR LA R |
L | L | A il | |
%A O AR A
“ JVAVR AR T AR AU
T || | | [
\ \\\ \\ 500m|—H [400m] \ 300m! \ [200m] [100m|
il { I
" \ \ 1L E(‘)J \ 9s] I§1ﬁ 78] Iﬁ,
it = %
g G, g = Density 3 4 5 6
takeoff weight [kg]

100

90

80

70

60

50

40

30

[wuw] ser8Wrelg puid YoINd

SOLTI



29

[ww] 1a18WRIQ

MTOEI

Kosdon-bv-Aerotech 1. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.
osdon-by-Aerotec 000 g 2. Move along horizgntal to Ief_tborFIerofdeqsityscalg _
1301W 2 Mo upsanted ne o vercane maling el U SIS -t
Il = 590.0Ns ; 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 302.2N g
:ibum z ;égfnzq N\ s0 2 time to apogee: 13.4s, expected altitude: 884m
Do s B empty weight [kg]
©2007-2008 Andreas Miller, translation by translator 2 3 4 5 6 7 8
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Kosdon-by-Aerotech 1. From rocket diameter scale move down alohg slanted line to vertical line matching drag coefficient.
1000 = 2. Move along horlzgntal to Ief_t borger of den_sny scalc_a _
IS50R 2 Mo upsanted ne o vercane maling el U SIS -t
l o = 591.3Ns ; 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 543.0N g
Lbu?n z ;éo?nzq N\ 00 % time to apogee: 13.2s, expected altitude: 906m
Do s B empty weight [kg]
© 2007-2008 Andreas Milller, translation by translator 2 3 4 5 6 7 8
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Kosdon-bv-Aerotech 1. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.
y 1000 = 2. Move along horizontal to left border of density scale
J 74OG g 3. Move up slanted line to vertical line matching density at launch site
i 4. From intersection point move horizontally to vertical line matching rocket mass
Il = 665.1Ns g 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 7881N g
Coum = gés:lnzq N\ s0 2 time to apogee: 14.0s, expected altitude: 1069m
Dataso:rce: - empty We|ght [kg]
Aerotecl
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1. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.
2. Move along horizontal to left border of density scale

3. Move up slanted line to vertical line matching density at launch site

4. From intersection point move horizontally to vertical line matching rocket mass

5. Read off expected time to apogee from red curves, altitude from green curves

time to apogee: 10.2s, expected altitude: 499m
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Kosdon-by-Aerotech
l o¢ = 6455Ns
Fag = 5143N
toun = 1255
d = 38mm
Data source
Aerotech
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Kosdon-by-Aerotech 1. From rocket dlameter scale move down alohg slanted line to vertical line matching drag coefficient.
1000 = 2. Move along horizontal to left border of density scale
J 74OG g 3. Move up slanted line to vertical line matching density at launch site

2 4. From intersection point move horizontally to vertical line matching rocket mass
Il = 665.1Ns » 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 788.1N g
Loum = 0.84s N\ s0 2 time to apogee: 10.3s, expected altitude: 531m
d = 38 mm B
Data source: empty We|ght [kg]
Aerotech
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1. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.
2. Move along horizontal to left border of density scale

3. Move up slanted line to vertical line matching density at launch site

4. From intersection point move horizontally to vertical line matching rocket mass

Kosdon-by-Aerotech

K700F

[1Sv w] spmnfe ans youne

l o = 1436.0Ns 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 7762N
Uoum = 1855 N\ 00 time to apogee: 15.9s, expected altitude: 1394m
= 54mm
Data source: empty We|ght [kg]
Aerotech
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Kosdon-bv-Aerotech 1. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.
y 1000 = 2. Move along horizontal to left border of density scale
K7 OO F g 3. Move up slanted line to vertical line matching density at launch site
i 4. From intersection point move horizontally to vertical line matching rocket mass
l o = 1436.0Ns g 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 7762N g
t bu?n = ;-48?“; N\ s0 2 time to apogee: 11.0s, expected altitude: 559m
Data So:rce: = empty We|ght [kg]
Aerotecl
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Kosdon-by-Aerotech 1. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.
1000 = 2. Move along horizontal to left border of density scale
K1750 R 2 3. Move up slanted line to vertical line matching density at launch site
a 4. From intersection point move horizontally to vertical line matching rocket mass
Il = 2468.8Ns 5 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 1690.9N g
Upum = 1465 N\ s0 2 time to apogee: 14.4s, expected altitude: 1147m
= 54mm i
Data source: empty We|ght [kg]
Aerotech
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Kosdon-by-Aerotech 1. From rocket dlameter scale move down alohg slanted line to vertical line matching drag coefficient.
1000 = 2. Move along horizontal to left border of density scale
K750W 2 3. Move up slanted line to vertical line matching density at launch site
a 4. From intersection point move horizontally to vertical line matching rocket mass
l o = 25385Ns 5 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 7320N g
Loum = 347 N\ w0 2 time to apogee: 15.2s, expected altitude: 1160m
= 54mm i
Data source: empty We|ght [kg]
Aerotech
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Kosdon-by-Aerotech 1. From rocket dlameter scale move down alohg slanted line to vertical line matching drag coefficient.
1000 = 2. Move along horizontal to left border of density scale
LZSOOG g 3. Move up slanted line to vertical line matching density at launch site
a 4. From intersection point move horizontally to vertical line matching rocket mass
l o = 2737.0Ns 5 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 21914N g
Lo = 1.25s N\ s0 2 time to apogee: 14.9s, expected altitude: 1278m
= 54 mm §
Data source: empty We|ght [kg]
Aerotech
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Kosdon-by-Aerotech 1. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.
1000 = 2. Move along horizontal to left border of density scale
M 2900 R 2 3. Move up slanted line to vertical line matching density at launch site
a 4. From intersection point move horizontally to vertical line matching rocket mass
l o = 5460.9Ns 5 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 2264.2N g
Upum = 2415 N\ s0 2 time to apogee: 16.2s, expected altitude: 1359m
= 75mm §
Data source: empty We|ght [kg]
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© 2007-2008 Andreas Miiller, translation by translator 10 20 30 40
400 =EL ——
////// — — I~
[ —1
o - — —— —
b &
| 1 L — I [ T —
////// L — —
LTI b — = —
300
BEEl L —] L — \\
| | 1000m <
1 T e e T~ ™ N
|+ il H \\
|1 | \\
’///// | Jﬁs}{ | T &\\ ~
L1 ] | — — — \
| | | |1 /_>- — \ \\ \
T s N
1 i L —— ~ \\
1] [
il I — = ™~ ~ AN
= S|
200 pEEEL T ]
E = —— ™~ ~ ~N
| LT 169 N N AN
il ju — — —~ AN N,
LT — ~_ ‘\ \ \ \ \
|] %\ ™~ N
JEEEte — \\ N N\
=== N\
il S \ \ \
jann \\ AN \ \
JIREES Y ~ \ \ N [2000m|] \
| N X AN I\
| T ~ N AN N\ \ \ \ \
] . \ \ AR E_‘GH e pal\ \ e |
N NN NNNVANAVAN ANIRURER
\\ \\ AN
jasn \\ ANEA\ R N \ \NEEWA \ AV IR \ \
N N N\ NENANAAR S ANE UL \
b G, 2 B Density 20 30 40
S [gm’] oS

takeoff weight [kg]

400
300
o)
=
<
x~
ul
3
o
&)
9
3
@
5}
3
200 3
100

d006¢2IN



T-0T

[ww] 1a18WRIQ

d00SEN

Kosdon-by-Aerotech 1. From rocket dlameter scale move down alohg slanted line to vertical line matching drag coefficient.
1000 = 2. Move along horizontal to left border of density scale
M 3500 R 2 3. Move up slanted line to vertical line matching density at launch site
a 4. From intersection point move horizontally to vertical line matching rocket mass
l o = 7312.0Ns ; 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 3111.6N £
Upum = 2.355 N\ w0 2 time to apogee: 11.4s, expected altitude: 633m
= 75mm i
Data source: empty We|ght [kg]
Aerotech
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Kosdon-by-Aerotech 1. From rocket dlameter scale move down alohg slanted line to vertical line matching drag coefficient.
1000 = 2. Move along horizontal to left border of density scale
M 1450W 2 3. Move up slanted line to vertical line matching density at launch site
a 4. From intersection point move horizontally to vertical line matching rocket mass
Il = 8069.7Ns ; 5. Read off expected time to apogee from red curves, altitude from green curves
Fag = 13540N g
Upum = 5965 N\ s0 2 time to apogee: 13.1s, expected altitude: 696m
= 75mm i
Data source: empty We|ght [kg]
Aerotech
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